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Instructions:
(1)  This question paper contains three Parts : *A’, ‘B’ and ‘C”.
(1) Part ‘A’ 1s compulsory for all candidates.
(i11) Candidates shall attempt only one part of the remaining Parts ‘B” and ‘C’.
(1v)  All parts of a question should be attempted together.
(v) Marks for each question are indicated against it.

AN — % (d@remre)

Part — ‘A’ (Accountancy)

1. HfR—aifie™ T e JfMEM A oiar FaTed | 2
Differentiate between over subscription and under subscription.

2. 3 @ B BT I AW B ? 2
What is the meaning of forfeiture of shares ?

3. WG & ¥ B WIAd S dlal {5l IR gehl $T AWM S | 2

Name any four factors affecting the value of Goodwill.

4. WEEN & P13 IR FaE 9da3y S GEEr) ok i oruRfa § anp ea &1 2

State any four rules of partnership which apply in the absence of partnership deed.

5 X 3R Y B YfSrdl, S aniem aXTeR T F 9ied & T 20,000 3R T 4,000 HA
g | ol W 5% ufcay &t fear omar 81 ad & fr=ifea amewor fbd o
Y

X
1 31, 2012 T 200 ; 1 S, 2012 T 100

1 §[H, 2012 T 200 ; 1 RrawR, 2012 T 200
1 37T, 2012 T 100 ; 1 FqR, 2012 T 100

ITERYT TR o] B R 5% UfAae e | ot gd meRer R oo &Ica ¥ gd 31 fRuww,
2012ﬁmﬁﬁaﬁﬁwwt12000W|
AM—EIA @ 915y | 3
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The capitals of X and Y, who are sharing profits and losses equally, are ¥ 20,000 and T 4,000
respectively. Interest on capital is allowed at 5% per annum. Drawings during the year were as
follows :

. X ' Y
1 April, 2012 T 200 ; 1 June, 20123 100
1 June, 2012 T 200 ; 1 September, 2012 ¥ 200
1 August, 2012 ¥ 100 : 1 November, 2012 T 100

The rate of interest an drawings is 5% per annum. Profits for the year ending 31* December,
2012 were ¥ 12,000, before deducting interest on capital and drawing.
Prepare Profit and Loss Accout.

‘A fafee @1 siffiea i T 200,000 & ST f& T 10 3 20,000 TaT 3 H
fnfora 21 s ¥ 12,000 THaT oW T F1 PRI BT T ol 3w e A 2
2 MEHA-TF R, T 4 A§eH Y, T 2 WUH AT W U9 ¥ 2 fgda ud sifvas araen
R 2 &) Wi IR gereHa w8 T €

HU B RRadi § fcaTr 87 3
The authorised capital of ‘A’ Ltd. is ¥ 2,00,000, which is divided in 20,000 equity shares of
T 10 each. Out of these shares, 12,000 equity shares have been issued to the public payable as :
T 2 on application, ¥ 4 on allotment, ¥ 2 on first call and ¥ 2 on second and final call. All the

amounts have been duly received.
Prepare Balance Sheet in the books of company.

& Med a9 @ Afad § Freifea gual ura g8 € - z
(i) 3IMTH Ud 9 €1 @ 3ER 2012—13 d W 7= 89,000
()  2011—12 ® 9 Iw T 5,000
(i)  2012—13 D <7 H (T T (2011—12 B T 1500 |fZq) 12,500
(iv)  2013—14 &g IRW A w< TR 3,000
v)  2012—13 H ufeiRad f&A T a= 600
(v) 142012 B W TR 8,400

31 99 2013 & THI B9 g o @ forg == @ e | 4
The following information is obtained from the Secretary of a Golf Club : T
(1) Subscriptions received in 2012-13 as per receipt and payment account 89,000
(i1) Advance subscriptions received in 2011-12 5,000
(ii1) Subscriptions outstanding at the end of 2012-13

(Including ¥ 1500 for 2011-12) 12,500
(iv) Advance subscriptions received for 2013-14 3,000
(v) Subscriptions written off during 2012-13 600
(vi) Subscriptions receivable on 1.4.2012 8,400

Prepare Subscriptions Account for the year ending 31¥ March, 2013.

IR SR T8GR TP B A WSeR ¥ ok 3 2 B rgu A o fifoa ava 819
9 B T GRER D T A 1/4 9T & o) vaw <@ F| IR AR q-IGR BT A
AT TSI U 2 ¢ 1 BRI | S99 AN AU & 0T IS | 4
Amar and Bahadur are partners in a firm sharing profits in the ratio of 3 : 2. They admitted
Marry as a new partner for 1/4 share. The new profit sharing ratio between Amar and Bahadur
will be 2 : 1. Calculate their sacrificing ratio.
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(®) o1 T B A B BHA-DIF G RN AR # ? 2
What are the various methods of redeeming of debentures ?

(@) ffdT woe @ fda yer R w=f g9 Smar & ? 2
How and why sinking fund account is prepared ?

A fofies =1 2 10 91e1 5,000 TFEAT 3 T 1 URY W P R | FR W i By
% 2 M9 9F W, T 3 3SR AR A9 R W 1d aifkim aradr ) g ¥ @f
IR T gre 81 | A B g H avad JAstar uRiftedt i) 4
A Limited issued 5,000 equity shares of T 10 cach at a discount of T 1 per share payable as ¥ 2

on application, ¥ 3 on allotment and the balance on first and final call. All the amounts were
duly received. Pass the necessary journal entries in the books of A Ltd.

A 10 3 2 100 Tl 8,000, 5% FUUF 10% ¥ W frif fry, RE W 2 25 wefAr
W UT 9N 3fgeqd W T I | A flo @ geaat § oie whafteat S| 4
A Ltd. issued 8,000, 5% debentures of ¥ 100 each at a discount of 10% payable T 25 on
application and the balance on allotment. Pass necessary journal entries in the books of A Ltd.

AR B, 3: 2% YA ¥ @l iR TFE B dfed gv o ¥ WEeR €1 4 ¢ B
M F 1/3 R & fory wserd # waw ¥ ¥ ¢ Gol B farw 2 20,000 @@ 2
S BT g T 15000 T oir & | A=ifaRea Refat § e—d o
yfaftedt # S -

(i) o geasl # @iy @ar 8 21 (i) orar gt ¥ @nfy 7 9000 81 3+3-6

A and B are partners in a firm sharing profits and losses in the ratio of 3 : 2. They admit C into

partnership for 1/3 share in profits. C brings capital of T 20,000. Goodwill is valued at Z 15,000.

Show what entries shall be made in the following cases :

(i) Goodwill does not appear in the books. (ii) Goodwill appear in the books at Z 9,000
HAYQT (OR) '

X, Y 3R ZUB BH W 4:3:3F 3qud § ol ) qied g 9eER 9| 99

U ¥ 1,00,000 B FYRT i1 diferdt off | mf¥es Wfem @1 gar 2 1,000 o W

faframT (awafy) am T om) v @ geg 15 A, 2012 B & US| 39 AR @)

uiferdl T WA G4 % 15000 AT Y B oY W wgad G diferdy @mEr s

qen e gfafkedt a?rﬁ?m http://www.ukboardonline.com

X, Y and Z were partners in a firm sharing profits in the ratio of 4 : 3 : 3. They had a joint life

policy of ¥ 1,00,000. The annual premeium paid was ¥ 1,000 and was considered as an

investment (Asset). Y died on 15" March, 2012. On that date, the surrender value of the policy

was ¥ 15,000. Prepare Joint Life Policy account and pass necessary journal entries on Y's
death. '

A fofies 91 2 10 amet 1,000 FHAT 379 10% g W FRIfRT Y Y, Rrd o 100
Y E, qE T 3 AT T AT BT YA TE BY ur AR SwD oig} B
&R foran Tar| &R0 by Y S siE B T 8 yoew W qAfRifig wv fRar
3 BT &1 AR gAFTTRT PR B AorerEET vfafedt @i | 6

A Limited issued 1,000 equity shares of ¥ 10 each at a discount of 10%. The final call of Z 3
was not paid by Y, who holds 100 shares and his shares were forfeited. Half of the forfeited
shares were reissued at ¥ 8 per share fully paid. Make journal entries for the forefeiture and
reissue of shares.

¥4I (OR)
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X fofids @ U 1 a9, 2012 BT T 8,00000 B 5% oA o, 1 A= 31
R, 2012 BT 9T oaT| TH 29 RifET ®US T 7,49,000 F1 oM, S & T 1,00,000
& sl wor AT, R 2 99 @ It gy wR a AT T e iR ¥ 6,60,000, 3%
wrs # fafvRa &) affe e T 28400 o | 31 fRawR, 2012 &1 AT | 2
08 @ TX W I 3 AR 5% FUGSAT B A IR AT WA T 2,400 B AP
A IR B U 3T KO U B YU B forg o) 3 2012 @ fog x fafacs
& qEad] # ATD Wi T |

X Limited had ¥ 8,00,000, 5% debentures outstanding as on 1% January, 2012, redeemable on
31* December, 2012. On that day, the sinking fund was ¥ 7,49,000 represented by T 1,00,000
own debentures purchased at the average price of T 99 and ¥ 6,60,000, 3% stock. The annual

instalment was ¥ 28,400. On 31¥ December 2012, the investment were realised @ T 98 per
stock and the 5% debentures were redecmed. Company had bank balance of ¥ 2,400 for

payment of these debentures. Write up necessary accounts in the books of X Ltd. for the year 2012.

AT TS QTS B W UG WA T A faawor 31 REwR, 2012 B wHC

14,
2 aret a¥ @ forg e Rar o @ ¢
AT 3 ma+ Z
Y I AR (1.1.2012) 7000 |gdral & ferq ¥ 30,000
T 50,000 |STEER P AL 10,000
G| 14,500 | 9dH 27,500
fafrr w® & (7% afve) 7,000 |fafey =g 500
AR o Byt 10,000 | SUERCN B HA 15,000
ARE M B =Y 1,000
99 3T o T (31.12.2012) 4,500
88,500 : 88,500
faRaa @ :
1.1.2012 31.12.2012
4 4
2 g 500 1,000
At # ura a= 1,000 500
ARl BT WD 10,000 15,000
gqrall @ agfidatell H1 37 4RI 8,000 12,000
IYGRI| BT A 21,000 30,000
W B I 40,000 38,000
31 FEgWR, 2012 B GG BN T 9 @ Ty ANy Ud FF Grar 9uR S| 6
A summary of receipts and payments of Medical Aid Society for the year ending 31"
December, 2012 is given below :
Receipts 3 Payments T
To Balance (1.1.2012) 7,000 | By payments for medicine 30,000
To subscriptions 50,000 | By Honorarium to Doctors 10,000
To Donations 14,500 | By Salaries 27,500
To Interest on Investments @ 7% p.a. 7,000 | By Sundry Expenses 500
To charity show proceeds 10,000 | By Equipments purchased 15,000
By Charity show expenses 1,000
By Balance (31.12.2012) 4,500
88,500 88,500
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Additional Informations :

Subscriptions due
Subscriptions reccived in advance
Stock of medicines

Amount due to Medicine Suppliers

Value of equipments
Value of Buildings

15, ALB3R C,4:3:2

1.1.2012

?
500

1,000
10,000
8,000
21,000

40,000
Prepare Income and Expenditure Account for the year ending 31% December, 2012.

IAPT anfdias frcar 31 A", 2012 &1 fFAfaRad o

31.12.2012
T
1,000
500
15,000
12,000
30,000
38,000

ﬁwmm'ﬁwmgmﬁl

R CECE LG S ERULL gfaf g |
T T
AR 33,000 AP 10,000
JAHEI Hag 27,000 TAGR 15,000
ol @ , weforn 30,000
A Z 70,000 f ENIEE 50,000
B ¥ 45,000 A 3R wa= 1,00,000
C 2 30,000 1,45,000
T 2,05,000 4 2,05,000

BH B U T 40,000 FHT WYF G- ST UF 2| 31 W 2012 BT SOH BT
|HIY Hog ¥ 13,500 1| B & fafyy &1 Fr=forRaa w6l w sraerer agwr gwar @ -
() o vd e A 20% fAglyg & o 2
(i) =fy &1 qTH T 18,000 fHaT ST B
(i) Gfeer o @ forw 5% wraems &1 fFmtor ST 2
(iv) 7 BT 10% | TAT LIS BT 5% AqfRad BT 2|
(v) e g & fT 21500 @ Wrau= @ A w2
(vi) B @ T 5000 Hg <41 & a7 9 W SHP FUT Wi H TR B AT
YTcdieT @], i FEeRl 3 o @t R A duT ¢ @1 anffe ficer R

BT |

8

A, B and C are partners sharing profits and losses in the ratio of 4 : 3 : 2. Their Balance sheet

on 31* March, 2012 is as follows :

Capital and Liabilities Amount Assets Amount |
T 3
Creditors 33,000 | Cash 10,000
General Reserve 27,000 | Debtors 15,000
. Capital Accounts : Stock 30,000
A T 70,000 Machinery 50,000
B T 45,000 Land and Buldings 1,00,000
C < 30,000 1,45,000
T 2,05,000 | N T 2,05,000
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The Firm has a joint life policy of ¥ 40,000. The surrender value of the policy was ¥
13,500 as on 31 March, 2012. B retires on the above date on the following conditions :

(i) Land and Building be appreciated by 20%.
, (i) Goodwill is to be valued at T 18,000.
(iii) A provision for doubtful debts of 5% is to be created.
(iv) Machinery be written down by 10% and stock by 5%.
(v) A provision of ¥ 1,500 be made in respect of legal charges.

(vi) B is to be paid T 5,000 in cash and balance amount be transferred to his loan accout.

Prepare Revaluation account, all partners Capital Account and Balance Sheet of A and C.

4T (OR)

A, B3R C UF B4 H URIGR & AR AW SRE% Iquid § dfed & I=H 31 -
qrd, 2012 B B &1 fAgeq fFar| 39 ahE B 39 BH &1 fFeer Fifda o ¢

PR T Sialnil T ;
JER 60,000 Y gt 1,00,000 |
o z qTe], Rt 40,000
A 30,000 BiGTS) 10,000
B 30,000
C 30,000 90,000
1,50,000 T| 150,000

TAT| WATYA G T 500 g ST AdAl A

L
qUORA 9 99 W o ¥ 10% BH IYA gU | oFaRI Bl QR YA fhar
WA [ T | ve E@fey i @

fore Rrad geaa! § B sgawn 7& o, T 500 YraE fFA Y| AEEd @ A |

A, B and C are partners in a firm and share profits and losses equally. They dissolved the firm

on 31™ March, 2012. On this date the Balance Sheet of this firm was as under :

Liabilities | X Assets ? |
Creditors 60,000 Fixed Assest 1.00,000
Capitals : X Current Assest 40,000
A 30,000 Cash 10,000
B 30,000
C 30,000 90,000

T 1,50,000 I 1,50,000

10% less than book value was realised from assets. Creditors were paid in full. Dissolution
expenses amounted to ¥ 500 which were paid in cash. An amount of ¥ 500 was paid for

contingent liabilities for which no provision was made in the books of accounts.

Prepare necessary accounts. «

w1 — @ (fa<fa fagvon &1 faweryon)

Part — ‘B’ (Analysis of Financial Statements)

16. o faaxol & <1 = fafRed |

Write two limitations of financial statement analysis.

17. U& Vde yare Ao @1 & ?

What is a cash flow statement ?
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18. Tl e Y (i) SATwRTISAr (ji) TRorar 9 (i) AT @ W9 P U a9 @)
ﬁaﬁqﬁﬁﬁmaﬁﬁ?ma%mwwﬂmaamwwﬁm
A 9V, 3
What ratios would you use to measure (i) profitability (ii) liquidity and (iii) solvency of a
concern. Give one ratio of each measure and formulae for computing that ratio.

19. TP & & Hrada gon o Rafy e 2

AER ¥ 24,500
&% Iavge % 10,500
wih % 28,000
3TER ¥ 17,500
qAHE AP ¥ 3,500
o], AT VG TRAAT AT & AT BT | 3
The working capital position of a company is as under :

Creditors . T 24,500
Bank overdraft T 10,500
Stock T 28,000
Debtors X 17,500
Cash T 3,500
Compute the current ratio and quick ratio.

20. fA=faRae faror 9 alwa awelt srafr & o i - 4
fo fasa Z 1.00,000
@ fama T 20,000
fasma amuh T 7,000
®A TTER T 9,000
T fae T 2,000
QET RO B UrauH T 1,000
Calculate average collection period from the following :

Total Sales T 1,00,000
Cash Sales T 20,000
Sales returns T 7,000
Total Debtors T 9,000
Bills receivable T 2,000
Provision for Bad debts T 1,000

21. Aﬁrﬁé@aﬁgwaﬁﬁmmmaﬁ—ﬁmmﬁmaﬁé

(112012 FY @Y | T 35000 | IMYfiware BT IO | € 2047.000 |
RS | wrferal - T 2783000 |Rer WuRW &g 4= | T 230,000
i &1 b | T 300000 |IUREE B YaA™ T 1,15,000
| Rer wufkral &1 fawa | T 128000 |daw T 69,000
| CIE 3 243,000
AT AT ¥ 80,000
4% FOT BT YA T 250,000
| T 32,46,000 L T 30,34,000
131122012 @Y @9 — T 212,000
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31 W,zmzﬁwsﬁmﬁmﬁzﬁﬁmmﬁwmmﬁwém

BT |

6

Following are the summary of each transactions extracted from the books of A Limited :

Balance as on 1.1.2012
Receipt from customers
Issue of shares

Sale of fixed assets

A A A AR

35,000
27,83,000
3,00,000
1.28,000

Z 32.46,000 |

Payment to suppliers T 20,47,000
Payment for fixed assets T 2,30,000
Payment for overheads T 1,15,000
Salaries T 69,000
Income Tax T 2,43,000
Dividend paid 4 80,000
Repayment of Bank Loan | ¥ 2,50,000
4

30,34,000

Balance ason 31.12.2012 -

2,12,000

Prepare the cash flow statement of the company for the period ended 31¥ December, 2012.

T — U (afefas dEied)

Part - ‘C’ (Computerised Accounting)

AP ¥ aaddic BT a4 IUINT 7 7

What is the use of Worksheet in accounting ?

SiofoTHOTHO B AW AT & 7
What are the advantages of D.B.M.S.?

SgiET difedaR &1 yRRE aRag i | 3

Give an elementary introduction of Accounting Software.

TR A T g9 @ ufhar & aHHisy | 3

Explain the process of creating charts in Excel.

@Gt & FEEBRYT G WIe @ Se¥d Wed # ARy | 3

Give briefly the objectives of grouping and Heirarchy of Accounts.

(F) Tae # e e XA B iar qaEg | 3

Describe the process of entering a formula in Excel.

(@)ﬁmﬁr@amzﬁwmqﬁ?ﬁqﬁmﬁfﬁmﬂaﬁmﬁgmﬁﬁa

Hien foRag :
SEOT Y YARIRT
T &) A

aifi et @ g

fopet &1 G

4
Z 8,000

4 a9

% 200

48

Write spreadsheet formula to find out monthly and annual rate of interest on the basis of

following information :
Loan Amount
Term of Loan

Amount of monthly instalments

Number of instalments

432 (ICT)
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